KEYWORTH CRICKET CLUB - 1890 SEASON

Chairman:

Gen Sec:	Treasurer:	
1 st XI Captain:	Vice Capt:	
Umpires:	Scorers:	Groundsman:

Review of the Season:

President:

A reasonably successful season in the Notts CA Senior League where we were always in contention. We were founding members in the first season of the League. Individually, Thomas Attewell topped the League Batting averages and we had the top 3 bowlers, Thomas Attewell, William Attewell & William Lane Pike. Two of the leading players, Walter Attewell and Matthew Wright were selected to represent a Nottinghamshire Colts XXII that played a two day, two innings match against Nottinghamshire CCC at Trent Bridge on Monday & Tuesday 5 & 6 September 1890 ó sixteen players against eleven county players. The county team winning easily by 9 wickets. The sixteen scoring 113 & 94 in their two innings. Wright opened the innings and made 14 in his first knock and a duck in the second innings. Attewell batted at number 11 and made 6 and a duck. Both players bowled, Attewell 16 overs, 9 maidens, 12 runs & 1 wkt. Wright 1 for 11 off 12 overs with 5 maidens.

1st XI LEAGUE MATCH RESULTS...

17.05.1890	KIMBERLEY INSTITUTE	А	Won by 98 runs
24.05.1890	GREENHALGH & Son	А	Lost by 30 runs
28.05.1890	NOTTINGHAMSHIRE SCHOOL BOARD	Н	Won by 26 runs
31.05.1890	STAPLEFORD ST HELENS	А	Lost by 37 runs
07.06.1890	SHAKESPEARE UNITED	Н	Won by 42 runs
14.06.1890	NOTTINGHAM UNITY	А	Won by 94 runs
21.06.1890	FOREST WANDERERS	Η	Draw
28.06.1890	NOTTINGHAMSHIRE SCHOOL BOARD	А	Lost by 42 runs
07.07.1890	SHAKESPEARE UNITED	А	Won by ?
14.07.1890	NOTTS HARRINGTON	Н	Lost by ?
21.07.1890	KIMBERLEY INSTITUTE	Η	Draw
28.07.1890	STAPLEFORD ST HELENS	Η	Won by 58 runs
02.08.1890	NOTTS HARRINGTON	А	Draw
16.08.1890	FOREST WANDERERS	А	Lost by ?
23.08.1890	NOTTINGHAM UNITY	Η	Won by 63 runs
06.09.1890	GREENHALGH & Son	Η	Draw

Notts Cricket Association – Senior Alliance LEAGUE Table:

			Pld	W	L	D	Tie	Pts
1	KIMBERLEY INSTITUTE		16	8	2	6	0	22
2	NOTTINGHAMSHIRE SCHOOL BOARD		16	8	4	4	0	20
3	NOTTS HARRINGTON		16	7	3	6	0	20
4	KEYWORTH		16	7	5	4	0	18
5	GREENHALGH & SON		16	7	5	4	0	18
6	STAPLEFORD ST HELEN		16	6	7	3	0	15
7	FOREST WANDERERS		16	3	4	9	0	15
8	NOTTINGHAM UNITY		16	3	9	4	0	10
9	SHAKESPEARE UNITED		16	2	13	1	0	5
1 st XI FRIE	NDLY MATCH RESULTS							
25.	05.1890 RUDDINGTON H	Η	Won by	15 ru	18			
26.	05.1890 KEIGHLEYS XI F	Η	Won by	18 ru	18			
24.	09.1890 UPPER BROUGHTON A	A	Won					

D1.1

337

HIGHEST SCORE: 121 KEYWORTH v NOTTINGHAM UNITY (14.06.90)

LOWEST SCORE:	39	KEYWORTH v GREENHALGH & Son (24.05.90)
	39	KEYWORTH v STAPLEFORD ST HELENS (31.05.90)

1890 SEASON continued...

1 st XI BATTING Averages (qualification : 6 Completed Innings)						
i in bittin (Griverages (quan	Matches	Innings	Not Out	HS	Total Runs	Ave
W L PIKE	16	15	2	52*	183	14.08
Arthur PIKE	13	13	0	33	189	12.10
T A ARMSTRONG	17	15	3	28	141	11.75
H HEBB	17	14	0	34	128	9.14
T B ARMSTRONG	11	9	2	18	55	7.86
JATTEWELL	11	8	$\frac{1}{2}$	14	45	7.50
H HODGETT	12	10	3	9*	41	5.86
William PIKE	12	13	1	17*	62	5.17
S PIKE	16	13	1	12	62 67	5.15
J PIKE	10	10	0	12	42	4.20
J LACEY	13	12	2	14	38	3.80
Also Batted	15	12	2	17	50	5.00
Thomas ATTEWELL	6	6	2	51*	127	31.75
William ATTEWELL	3	3	$\overline{0}$	44	83	27.67
T TOMLINSON	6	5	1	33	47	11.75
W A PIKE	4	4	0	29	36	9.00
EATTEWELL	7	6	ů 1	13*	36	7.20
J TOMLINSON	1	1	0	5	5	5.00
T SIMPSON	3	3	0	10	10	3.33
Walter PIKE	3	3	1	3*	6	3.00
Horace PIKE	3	3	0	4	5	1.67
H MILLS	1	1	0	1	1	1.00
Walter ATTEWELL	2	1	0	0	0	0.00
G TOMLINSON	3	2	0	0	0	0.00
A SIMPSON	1	1	1	0 1*	1	0.00
J D TOMLINSON	1	0		0	0	
Best off the Bat	1	0	0	0	0	
		Opposition	n		Venue	Date
Runs Player 52* W L PIKE	v		" LEY INSTI	TUTE	A	17.05.1890
		GREENH	ALGH & S	on	Н	06.09.1890
Best Batting Partnerships of the S Wkt Runs Partners	beason		0	Opposition		Date
WKt Kulls I artifets			0	pposition		Date
1 st XI BOWLING Averages (qual	ification 8	wickets or (60 overs)			
	Ove			uns V	Vkts Ave	
Thomas ATTEWELL	49	1	9	61	14 4.36	
William ATTEWELL	52			66	13 5.08	
W L PIKE	178			320	58 5.52	
H HEBB	15			239	30 7.97	
T A ARMSTRONG	86			176	22 8.00	
Also bowled					•	
A SIMPSON	11	3	3	26	6 4.33	
Walter ATTEWELL	13			21	3 7.00	
G TOMLINSON	3			9	1 9.00	
J PIKE	44			75	6 12.50	

1890 SEASON continued...

Best with the Ball...

Figures	Player		Opposition	Venue	Date
7-19	W L PIKE	V	SHAKESPEARE UNITED	Н	07.06.1890
6-26	A SIMPSON	V	NOTTS HARRINGTON	А	02.08.1890
6-39	W L PIKE	V	KEIGHLEYS XI	Н	26.05.1890
6-40	H HEBB	V	NOTTS SCHOOL BOARD	Н	28.05.1890
5-10	W L PIKE	V	KIMBERLEY INSTITUTE	А	17.05.1890
5-12	W L PIKE	V	NOTTINGHAM UNITY	А	14.06.1890
5-13	H HEBB	V	NOTTINGHAM UNITY	А	14.06.1890
5-16	William ATTEWELL	V	STAPLEFORD ST HELENS	Н	28.07.1890
5-16	W L PIKE	V	RUDDINGTON	Н	25.05.1890
5-24	T A ARMSTRONG	V	STAPLEFORD ST HELENS	А	31.05.1890
5-25	T A ARMSTRONG	V	GREENHALGH & Son	А	24.05.1890
5-27	W L PIKE	V	GREENHALGH & Son	А	24.05.1890
5-29	W L PIKE	V	STAPLEFORD ST HELENS	А	31.05.1890
5-31	W L PIKE	V	NOTTS SCHOOL BOARD	А	28.06.1890

1st XI CATCHING & STUMPING:

Catches	Stumpings		Catches	Stumpings
7		E ATTEWELL	1	
7	7	J ATTEWELL	1	
7		Wm ATTEWELL	1	
6	2	H MILLS	1	
5		Horace PIKE	1	
5		Walter PIKE	1	
4		A SIMPSON	1	
2	1	T SIMPSON	1	
2		J D TOMLINSON	1	
	7 7 6 5 5 4	7 7 7 7 7 6 2 5 5 4	7E ATTEWELL77J ATTEWELL77Wm ATTEWELL62H MILLS5Horace PIKE5Walter PIKE4A SIMPSON21T SIMPSON	7E ATTEWELL177J ATTEWELL177Wm ATTEWELL162H MILLS15Horace PIKE15Walter PIKE14A SIMPSON121T SIMPSON1

2nd XI FRIENDLY MATCH RESULTS...

15.06.1890	NOTTS CASTLE II	Н	Drav
29.06.1890	NOTTS CASTLE II	Н	Lost
27.09.1890	FOREST WANDERERS II	А	Lost

w

st by 100 runs st by 6 runs

1890 SEASON continued...

2nd XI BATTING Averages (no qualification)

	Matches	Innings	Not Out	HS	Tot	al Runs	Ave
Horace PIKE	1	1	0	25		25	25.00
T BROWN	1	1	0	13		13	13.00
J TYLER	2	2	0	21		24	12.00
Harry BOLTON	2	2	0	11		21	10.50
W WIDDOWSON	3	3	1	12		17	8.50
William PIKE	3	3	0	11		22	7.33
J DISNEY	1	1	0	5		5	5.00
H LACEY	1	1	0	4		4	4.00
J ATTEWELL	2	2	0	6		6	3.00
T A ARMSTRONG	1	1	0	2		2	2.00
H HOPKINSON	1	1	0	2		2	2.00
J TOMLINSON	1	1	0	2		2	2.00
H B SIMPSON	3	3	0	3		5	1.67
S PAGE	2	2	0	3		3	1.50
E ATTEWELL	1	1	0	1		1	1.00
C ATTEWELL	1	1	0	0		0	0.00
S ATTEWELL	1	1	0	0		0	0.00
H HODGETT	1	1	0	0		0	0.00
Alf PIKE	2	2	0	0		0	0.00
F PIKE	1	1	0	0		0	0.00
Walter PIKE	1	1	0	0		0	0.00
H MILLS	1	1	1	0*		0	
Best off the Bat							
Runs Player		Opposi	tion			Venue	Date
		V					
2 nd XI BOWLING Averages (no	qualification	n)					
	Ove		idens	Runs	Wkts	Ave	
T A ARMSTRONG	13		5	24	5	4.80	
Walter PIKE	8		3	15	2	7.50	
Harry BOLTON	24		5	56	6	9.33	
Horace PIKE	7		2	11	1	11.00	
E ATTEWELL	11		3	40	1	40.00	
	10		1	40	1	40.00	

H MILLS		10		1	40	1	40.00	
J TYLER		12		2	48	1	48.00	
J ATTEW	ELL	8		2	14	0		
William F	PIKE	2		0	4	0		
Best with the Ball								
Figures	Player			Oppo	sition		Venue	Date
6-28	Harry BOLTON		V	NOT	FS CASTLE	II	А	15.06.1890
5-24	T A ARMSTRONO	3	V	FORE	EST WANDE	RERS II	А	27.09.1890

2nd XI CATCHING & STUMPING: Catches

	Catches
William PIKE	2
J DISNEY	1
H HOPKINSON	1
H LACEY	1
J TYLER	1

Stumpings